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Year 6

Mathematics
Arithmetic

Multiplying and Dividing by 10, 100 and 1,000 – paper 4

First name

Middle name

Last name

Date of birth Day Month Year

School name
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4.899 ÷ 1000 = 

11.4 ÷ 10 = 

87.7 x 1000 = 

1 mark

1

1 mark

2

1 mark

3
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7.957 ÷ 10 = 

4.97 x 100 = 

218 x 10 = 

1 mark

4

1 mark

5

1 mark

6
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8.4 x 100 = 

5.35 x 10 = 

687.9 ÷ 1000 = 

1 mark

7

1 mark

8

1 mark

9
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30.6 ÷ 10 = 

74.5 ÷ 100 = 

1.931 x 1000 = 

1 mark

10

1 mark

11

1 mark

12
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284 ÷ 1000 = 

83.77 x 10 = 

26.7 x 100 = 

1 mark

13

1 mark

14

1 mark

15
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60.6 ÷ 1000 = 

804 x 1000 = 

6907 ÷ 100 = 

1 mark

16

1 mark

17

1 mark

18
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567 ÷ 10 = 

466.1 x 1000 = 

1 mark

19

1 mark

20

1 mark

21 6.9 ÷ 100 = 
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29.4 x 10 = 

1 mark

23

24

8.49 ÷ 100 = 

2025 x 100 = 

1 mark

22

1 mark

Total
marks
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83.77 x 10 =  837.7

284 ÷ 1000 =  0.284

26.7 x 100 =  2,670

60.6 ÷ 1000 =  0.0606

804 x 1000 =  804,000

6907 ÷ 100 = 69.07

567 ÷ 10 =  56.7

466.1 x 1000 =  466,100

6.9 ÷ 100 =  0.069

8.49 ÷ 100 =  0.0849

2025 x 100 =  202,500

29.4 x 10 =  294

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

4.899 ÷ 1000 =  0.004899

11.4 ÷ 10 =  1.14

87.7 x 1000 =  87,700

218 x 10 =  2,180

4.97 x 100 =  497

7.957 ÷ 10 =  0.7957

8.4 x 100 =  840

5.35 x 10 =  53.5

687.9 ÷ 1000 =  0.6879

1.931 x 1000 =  1,931

30.6 ÷ 10 =  3.06

74.5 ÷ 100 =  0.745
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Answers

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.


